Computer Science KS4

1 Complete the boxes on the diagram to illustrate the featu

Marks are awarded and
coded feedback is provided.
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v 3 One factor affecting CPU performance is cache size.
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Students
engage
with
feedback
and
correct
answer
in green

Marks are awarded and feedback is provided.

Students are encouraged to research and investigate why they did not get full marks for a particular
question. After this is completed, the engagement is checked and only then is the mark scheme shared.
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Students 5 A washing machine is an example of a device that has an embedded operating
engage system. Describe what an embedded operating system is.
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8 State the purpose of the CPU. []
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Verbal feedback on topic misconceptions, or exam
technique issues, are provided during lessons.




